1+2 —2+L =7?
5 L2
5
5 1 1 1 1
a) —— b) -= c) —= d) —= e) —
) )5 ) ¢ )~ ) 5

3x° —x* +x* =7 polinomunun (x +1) ile béliimiinden kalan kagtir?
What is the remainder after division of the polinomial 3x° —x* + x> -7 by

(x+1) ?

a) —20 b) —12 c) -4 d) -2 e)0

fpg=1X 3 X230 X o (Fege )] =2
—-X+5, x<3

a) —1 b) 1 c) 19 d) 38 e) 39



X2 — X

2
fx)=1 X 1
=11

— , Xx=1
m

fonksiyonu x =1 noktasinda siirekli olduguna gére m kagtir?

, X#1

X2 =X

——, X#1
If f(x)= ; -1 is a continuous function at x =1, then what is the

- . X
m

Il
[

value of m?

a) -2 b) 0 d) 1 e) 2

()
~—
I

X
J.x2+1 dx=?

a) In(x)+C

b) In(x?)+C

¢) In(x? +1)+C

d) InVx>+1 +C
e) InVx+1+C

Asagidaki dizi i¢ ige gegmis iki diziden olusmaktadir.
13 20 18 17 23 14 a b

Buna gore, a+b toplami kagtir?

The sequence given below consists of two separate sequences.
13 20 18 17 23 14 a b

According to this, what is the value of the sum a+b ?

a)17 b) 35 c) 39 d) 43 e) 45



Asagidaki sayilar belirli bir kurala gore dizilmistir.
The numbers given below are ordered with regard to a specific rule.

Buna gore 7. satirdaki en biiyiik ¢ift say1 kagtir?

According to this rule, what is the biggest even number in the 7th row?

a) 6 b) 10 c) 12 d) 20 e) 32

Yukaridaki sekildeki islem bir kurala gore yapilmistir. Bu kurala gore soru igareti
"?" yerine asagidakilerden hangisi gelmelidir?

The operation above is performed according to a specific rule. According to this
rule, what would be written instead of "?" ?

a) 25 b) 36 )40 d) 50 e) 64



10.

Reel sayilar kiimesi iizerinde, A islemi

8a-b , a<b
aAb =
ab+6, a=b

seklinde tanimlansin. Buna gore (4A6) A1l isleminin sonucu kagtir?

According to the operation defined on the real numbers as in the following form

8a-b, a<b
aAb =
ab+6, a=b

what is the result of (4A6) A1?

a) 20 b) 22 )24 d) 32 e) 34
112 |7 | 1|13 1|5 I 4 16 |8
314 |8 ) 2 |4 |6 ) 517 19
516 |9 7 18 |9 10| 11| 12
Yukarida yapilan iglem

1

6

4

kutusuna uygulandiginda II. islemden sonra elde edilen kutu asagidakilerden
hangisidir?

Consider the above two operations. If these operations are applied to the following
box

2

what is the result box obtained after the Operation 11?

a) b) c) d) e)

6 |11 |2 |3 |8 | |5 |8 |4 | |8 |9 |2 | |4 |6 |11

12|10 |5 |9 |7 6 |12 |9 5 |12 |7 8 |12 |10

9 |7 1 |6 |4 11|10 |7 1312 |7 4 |9 |7




